

Bitrus Romanus Kura
16/ENG01/004

Chemical Engineering ENG 381

$$y = e^{x^2+2x}$$

$$y' = (2x+1)e^{x^2+2x}$$

$$u = 2x+1 \quad v = e^{x^2+2x}$$

$$\frac{dy}{dx} = 2 \quad \frac{dv}{dx} = (2x+1)e^{x^2+2x}$$

$$y'' = u \frac{dv}{dx} + v \frac{du}{dx}$$

$$= (2x+1)(2x+1)e^{x^2+2x} + e^{x^2+2x}(2)$$

$$y'' = y'(2x+1) + 2y$$

From Leibnitz Theorem

$$y'' - y'(2x+1) - 2y = 0$$

$$\begin{matrix} \Downarrow & \Downarrow & \Downarrow \\ k_1 & k_2 & k_3 \end{matrix}$$

$$k_1 = y'', \quad k_2 = -y'(2x+1), \quad k_3 = -2y$$

$$k_1 = y''$$

$$U^0 = y'', \quad U^1 = y'''$$

$$V^0 = 1, \quad V^1 = 0$$

$$U^n = y^{n+2}$$

$$k_1^n = {}^n C_0 U^{n-0} V^0 + \dots$$

$$k_1 = y^{n+2}$$

$$k_2 = y'(2x+1)$$

$$U^0 = y', \quad U^1 = y''$$

$$V^0 = 2x+1, \quad V^1 = 2$$

$$k_2^n = {}^n C_0 U^{n-0} V^0 + {}^n C_1 U^{n-1} V^1$$

$$= y^{n+1} (2x+1) + ny^n \cdot 2.$$

$$k_3 = 2y$$

$$U^0 = y \quad U^1 = y''$$

$$V^0 = 2, \quad V^1 = 0$$

$$U^n = y^n$$

$$k_3 = {}^n C_0 U^{n-0} V$$

$$k_3^n = 2y^n$$

$$\therefore k_1 + k_2 + k_3.$$

$$y^{n+2} - y^{n+1} (2x+1) - 2ny^n - 2y^n = 0.$$

$$y^{n+2} - y^{n+1} (2x+1) - 2y^n (n+1) = 0$$

$$y^{n+2} = y^{n+1} (2x+1) + 2y^n (n+1).$$

$$2 \quad y = x^3 e^{4x}$$

$$V^0 = x^3, \quad V^1 = 3x^2, \quad V^2 = 6x, \quad V^3 = 6$$

$$U^0 = e^{4x}, \quad U^1 = 4e^{4x}, \quad U^2 = 16e^{4x}, \quad U^3 = 64e^{4x}$$

$$U^n = 4^n e^{4x}$$

$$y^n = C_0 U^{n-0} V^0 + C_1 U^{n-1} V^1 + C_2 U^{n-2} V^2 + C_3 U^{n-3} V^3$$

$$= U^n V^0 + n U^{n-1} V^1 + \frac{n(n-1)}{2!} U^{n-2} V^2 + \frac{n(n-1)(n-2)}{3!} U^{n-3} V^3$$

$$= 4^n e^{4x} \cdot x^3 + n 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2!} 4^{n-2} e^{4x} \cdot 6x + \frac{n(n-1)(n-2)}{3 \times 2} 4^{n-3} e^{4x} \cdot 6$$

$$= 4^n e^{4x} \cdot x^3 + n 4^{n-1} e^{4x} \cdot 3x^2 + n(n-1) 4^{n-2} e^{4x} \cdot 3x + n(n-1)(n-2) 4^{n-2} e^{4x}$$

$$= 4^{n-3} e^{4x} (4^3 x^3 + n 4^2 \cdot 3x^2 + n(n-1) 4 \cdot 3x + n(n-1)(n-2))$$

$$= 4^{n-3} e^{4x} (64x^3 + (5 \times 48)x^2 + 12 \times 5(5-1)x + 5(5-1)(5-2))$$

$$y^5 = 4^{5-3} e^{4x} (64x^3 + (5 \times 48)x^2 + 12 \times 5(5-1)x + 5(5-1)(5-2))$$

$$y^5 = 16e^{4x} (64x^3 + 240x^2 + 240x + 60)$$

$$ii \quad x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$$\begin{array}{ccc} \Downarrow & \Downarrow & \Downarrow \\ W_1 & W_2 & W_3 \end{array}$$

$$W_1 = x^2 y''$$

$$U^0 = y'', \quad U^1 = y''', \quad U^2 = y''''$$

$$V^0 = x^2, \quad V^1 = 2x, \quad V^2 = 2$$

$$U^n = y^{n+2}$$

$$W_2 = xy'$$

$$U^0 = y', \quad U^1 = y'', \quad U^2 = y'''$$

$$V^0 = x, \quad V^1 = 1, \quad V^2 = 0$$

$$U^n = y^{n+1}$$

$$W_3 = y$$

$$U^0 = y, \quad U^1 = y'$$

$$V^0 = 1, \quad V^1 = 0$$

$$U^n = y^n$$

$$W_1^n = \binom{n}{0} U^{n-0} V^0 + \binom{n}{1} U^{n-1} V^1 + \binom{n}{2} U^{n-2} V^2$$

$$= U^n V + n U^{n-1} V' + \frac{n(n-1)}{2!} U^{n-2} V^2$$

$$= y^{n+2} V + n y^{n+1} 2x + \frac{n(n-1)}{2} y^n 2$$

$$= y^{n+2} V + n y^{n+1} 2x + n(n-1) y^n$$

$$W_2^n = \binom{n}{0} U^{n-0} V^0 + \binom{n}{1} U^{n-1} V^1 + \binom{n}{2} U^{n-2} V^2 + \binom{n}{3} U^{n-3} V^3$$

$$= U^n V^0 + n U^{n-1} V^1 + \frac{n(n-1)}{2!} U^{n-2} \cdot 0$$

$$= y^{n+1} \cdot x + n y^n \cdot 1 + 0$$

$$W_3^n = \binom{n}{0} U^{n-0} V^0 + \binom{n}{1} U^{n-1} V^1 + 0$$

$$= U^n V^0 + 0$$

$$= y^n$$

$$\therefore W_1 + W_2 + W_3 = 0$$

$$x^2 y^{n+2} + n 2x y^{n+1} + n(n-1) y^n + y^{n+1} + n y^n + y^n = 0$$

$$x^2 y^{n+2} + x y^{n+1} (2n+1) + y^n (n^2 - n + n + 1) = 0$$

$$x^2 y^{n+2} + (2n+1) x y^{n+1} + (n^2 + 1) y^n = 0$$